Review 2 Answers
L (@) 25 () { 5.3 ©) {1k (@) 205 ) {-9,128); (1) (~25,20).

2. 1.2 hours

3. (a) [1,00); (b) [=7,=3); (c) (=00, —4] U [1,00); (d) (—— —); (e) (—2,2);

0(+36)

@ {Safim e @ {5 -sh @ -2

5. (a) 2 (b) (~50.50); (©) (=20,.29) (@) (-o0.~3 ) U (5.0

6. midpoint: (3,4); distance: 5

7. yes

8. yes

9. (a) (x+2)?+(y—3)* = 225; (b) (z+8)*+(y—1)* = 289; (¢) (x—6)*+(y+5)* = 36.

10. y is a function of x for (b),(c), and (e)

2

a) D: [—g,oo , Ri (=00, 00), z-axis symmetry

(—00,00), R: (=00, 00), origin symmetry

(—o0,00), R: (—00,0], y-axis symmetry

[—3,3], R: [-3, 3], symmetric w.r.t. both axes and origin
:[—3,3], R: [0, 00), y-axis symmetry

12. 4 — 3y = —15

2 8
13, y= —2p —
Y=73" 75

4. f(=2) = 4;f(0) = —1; f(1) = 0; f(2) = 1; f(4) = 1; f is increasing on (0,2),
decreasing on (—o0,0) and constant on (2, c0)
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15. (a) symmetric about z-axis; z-int: (—1,0); y-int: (0,+1)
b) symmetric about the origin; z-int and y-int: (0,0)

( 3
(¢) no symmetry; z-int: (3,0); y-int: (O, —§>

16. (a) neither (b) even (c) odd (d) even
17. 4

18. Reflect across the x-axis, shift right three units, and shift up one unit; domain:
[3,00); range: (—o0, 1]

19. Reflect across the z-axis, horizontal shift 2 units left, vertical shift 1 unit up.
Should be always decreasing with domain and range (—o0, o).

20. (a) D = [~2,7] and R = [-5, 1] (b

) D =[-2,7 and R = [1,7]
(¢c) D= [72]andR [—1, 5] (d) D =0,

9] and R = [-2,4]

21. (a) f(z) = —2(z — 2)? + 0; Vertex: (2,0); z-intercept (2,0); y-intercept (0, —8)

1\* 25 125
(b) f(z) = (x—é) VR Vertex: (5’_Z>; x-intercepts: (—2,0),(3,0); y-
intercept: (0, —6)



9 6 Oty
4 1
2 1
| | x
-6 —4 4 6
1 2
22. (a) No; range: [1,00) (b) y = §(x +1)2+1
23. (a) maximum height 196 feet at ¢t = 2.5 seconds (b) 6 seconds

24. 45 meters by 90 meters



